Question Paper Preview

Question Paper Name: AP ICET 2019 26th April 2019 S1
Subject Name: APICET 2019
Duration: 150
Share Answer Key With Delivery Yes
Engine:
Actual Answer Key: Yes
Analytical Ability
Display Number Panel: Yes
Group All Questions: No

Question Id : 9909114390 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (1to 20)
Question Label : Comprehension

Data Sufficiency &agro® HoegRd

Note:In the following 20 questions , each question is followed by data in the form of two statements labeled
as I and II. You mwmst decide whether the data given in the statements are sufficient to answer the
questions. Using the data make an appropriate choice from (1) to (4) as per the following guidelines:
a) Mark clioice (1) if the statement I alone is sufficient to answer the question.
b) Mark choice (2) if the statement II alone 1s sufficient to answer the question.
¢) Mark choice (3) if both the statements T and IT are sufficient to answer the question but neither
statement alone is sufficient.
d) Mark (4) if both the statements I and II together are not sufficient to answer the question and
additional data 1s requured.

RS0 $06 @YD 20 YOS KA HI) S’ 28 BF , T 206 [, Il 0 hien (o Totd HIST
Ggrodol™ @I(WETON. RIYD BFro¥o GDAFHod) , DD HIST e B D DAFETY) VINoHH
DO wpHTralr For el o :.‘ug-aoa»a. & IPronD $oB IYEsE rgren &DArAD (1) Mod
(4) 5655 8 00 BTPELM) doard Boc‘uéod

2) 28O JArEHo BBYoHLH POSVo [ Hr@dy DUHMNES o aTew (1)  HFoded .

b) 0D DArErdo BByoHLH HBSJo I Srgdo DogHavond 2 o7 (2) e ool

) D) H 2o AdyoDH HASTren 1, 1T 88D Dorghvang o’ O 28,8 groe Dovghoe

s&d*3 Do aaee (3)  hBoded.
d) D¥) D Do S oD HASTren I, 11 £ e Domgho 5°8 ©BHY & grobo BBV

esoned Do 2arew (4) e HBotod.


https://www.aplustopper.com/previous-year-question-papers/

Sub questions
Question Number : 1 Question Id : 9909114391 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Isa > b?

a > b esshevoe?

[ al6cpls

o af<p?

Options:
1.1

k-2
L-2

oW
[ R Y

Question Number : 2 Question Id : 9909114392 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
If x and y are integers. is 4/ X2 + y? an integer?
o 2 z it ]
X, ¥ 0 QPgro5Ten 20083 X * + Y= 8 IPTr050"
I  8x%2-y2=0

M. x%+ y?is an integer

x% + y? w8 yrgroso

Options:
1.1

k-2
-2

o
J= L

Question Number : 3 Question Id : 9909114393 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the value of 3a+257

Ja + 2b Densd Joed?

a 2
I —==
b 3

. 2a—3b=10

Options:
1.1

R I

33



4.4

Question Number : 4 Question Id : 9909114394 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many sons does A have?

A 8 Jodidnod SiaTrdien Q)R:Pilci:r?

1. B 1s D’s brother and son of A.

B &9 3§38 D £ T a08oin A £ £Haried

1I. D’s father has three children.
D 638, Soc.d @b Heen

Options:
1.1

L2
-2

oW
[ R W

Question Number : 5 Question Id : 9909114395 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
What is the distance between the cities P and Q

Ooc Aioren P aodain Q & FSb Al CirGod0e37
I.  City A 1s 60 km from city Q
2o Q fod Hito A £ Grdo 60 3.a0
II.  City P 1s 80 km form city A

Sco A Sood Hnco P £ arco 80 .50

Options:
1.1

k-2
L2

o
[ R W

Question Number : 6 Question Id : 9909114396 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



What 1s the GCD of positive integers a and b?

& Rrgosten a b © ans), .02 Jdoed?

I.  aandb differ by 1.

a, be &co 1
II a=b
Options:
1.1
3.3
4.4

Question Number : 7 Question Id : 9909114397 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the value of |x|?
|%| Dewsd does?
I x*—4x*+4=0
II. xiseven
x b “'rar::a:r?g

Options:
1.1

o]
]

oW
d= 0 La

Question Number : 8 Question Id : 9909114398 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



What i1s the value of the middle term of the sequence of positive integers
s s . , @yq if their sum 15 13807

Bl T s s By 0 E0RD ?inug“osum 20€s0 1380 esond@d oeed ESvlaly DA e

I.  The average of first six terms 1s 100

0GE) esc e e 100

II.  The average of last s1x terms 15 150

web estaore) ke 150

Options:
1.1

-2
-2

B W
J= L

Question Number : 9 Question Id : 9909114399 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Isx > y?

x > y esaEoor?

1. Jxl<3
o |yl>3
Options:
1.1
3.3
4 4

Question Number : 10 Question Id : 9909114400 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



How many positive integral multiples of 5 are there up to n?

H a5 &K};L 5 D?msb e EC)_‘FE“DS §¥ll=l K}u;}é 2J0ES7

I. 500 1s the largest multiple of 10 that 1s < n.

10 G308, esse” n D0 &) 78 DYS 500

II. 1005 1s the largest multiple of 5 that 1s not greater than ».

n €063 DG 57 5 L), st 1005 DEO

Options:
1.1

k-2
L-2

oW
[ R Y

Question Number : 11 Question Id : 9909114401 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
What is the LCM of the positive integers m, n?

G QrgrosTen m, n © £.3°.00 Joed?

I. GCDofm nis?9.

m, nemre.Je e 9

II. m+n=108

Options:
1.1

k-2
-2

oW
J= 0 wa

Question Number : 12 Question Id : 9909114402 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Is the positive integer n, a prime?
Ged Qj“g“ogm_) 1 ") “‘rauaJ“?S‘?
I.  mis an odd integer greater than 3

3 Zo083 SIalalsborny [ars) SLEVS

II.  nis an even mteger greater than 2

2 &0k DEE000:) WO Vof n

Options:
1.1

k-2
-2

B W
[ A WY

Question Number : 13 Question Id : 9909114403 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If p, g and r are real numbers: are the roots of the quadratic equation px® +gx +r =10
real?

P g 7 0 TP Dopfwond DG DEome px” +gx +1 = 0 g, Jreren ST
oD§eTr?

L r—325p=10

oI qg+9 =10

Options:
1.1

k-2
L2

o
[ R W

Question Number : 14 Question Id : 9909114404 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



In how many points do the two circles intersect?

Ooc yzren A2) Do GG Boc.ocotron?

A The radii of the circles are 12 em and 5 cm.

ST TIrgren 12 0., 5§ 0,20

1I. The distance between their centres 1s 25 cm.

&3 9BS00re) SDG] Brdo 25 Do.

Options:
1.1

k-2
L-2

o
d= L

Question Number : 15 Question Id : 9909114405 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In how many days P alone can complete the work:

P 2,8 & &3 DI D) Tered” urd SFed.

I.  Pand Q together can complete that work 1 12 days.

P, O en 880 &5 DD 12 Bered” 2518 Srco.

II. @ alone can complete the work in 36 days.

0 2,8).C &5 DD 36 Bered” SFrco.

Options:
1.1

o]
]

oW
d= 0 La

Question Number : 16 Question Id : 9909114406 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



How many girls are taller than Sarath 1n his class?

306 5063 e963) EGIES° Doeh cod erdsen P &) 7

. When students in Sarath’s class are ranked in the descending order of heights.
Sarath is 17 from the top among all the students and 12% among boys.

3046 A0S ev0rieaes" ) DEHDLOL TP DAL e 09598 aea Sa0eS” o), P
0 17 & T 366 0BG erendel’ P Aol 12 & a7

II.  Sarath’s rank from the bottom on the basis of height among boys is 18 and
among all the students is 29%,

e e0a €7D DEFFDOON T8 DOVWOD 28 0B ares Sonoe) eoc)d
erenced” 306 Ao 18 o T 30D SOOI 9050 Ejmégjme‘f 208 ol 295
T

Options:
1.1

k-2
L-2

o
d= L

Question Number : 17 Question Id : 9909114407 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
If p and ¢ are positive integers. 15 p multiple of g?

P: g B0 B2 QPgosTen eond q dlns) Medzo p eaavon?
I.  Every prime factor of g 1s also a prime factor of p.
q r:ﬁ_uﬁzr 22653 O PE50 p S RTEN EraSo

II.  Every factor of g 15 also a factor of p.

q o&nét} 2283 2 So p S arato

Options:

k-2
L2

o
[ R W

Question Number : 18 Question Id : 9909114408 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Paul walks at a constant rate for 80 minutes every day in the same track. How long 1s the
track?

23 ee)e)” DS BIA PO DefoT 3¢5 80 DINaTen DEDF . €3 3°8) T'ERY) Joed?

I.  Paul began walking at 5.00 a.m vyesterday.

QD & Bez Jre5 5.00 a.m.£ HEE Jroodowrcd

II. Paul walked 5km by 5.40 am. and 8 km by 6.04 a.m. yesterday.

K}.ﬁtlﬁ?l Bar Jre5 5.40 am.£ 5 .20 en 6.40 am. £ 8 2.20en Héarcd

Options:
1.1

k-2
-2

oW
J= 0 wa

Question Number : 19 Question Id : 9909114409 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

p and g are 2 digit numbers that share the same digits. but in reverse order. Then what 1s
the sum of p and g7

Bocio3e) Roagen p, gees” &3 e90Ten &) 00 5, S8 a0 Savoed” €7 0. RO
P, g2 Q0650 Joed?

I p—g=45

II.  The difference between the two digits in each number is 5

p. qen 28 8) o 2e5° Gof Do) 9080 e 5

Options:
1.1

k-2
L2

o
[ R W

Question Number : 20 Question Id : 9909114410 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A zebra must get water from either a river or a pond. Which of the two sources of water
1s closer to the zebra’s current position?

) o 2.8 00 A HOS =20 G4 RO 5= DD, & Goctotdes” DO Zond
TPEC DO 28 S 66?7

I.  Morning at a constant rate. it takes the zebra 2 hours to reach the niver from its
current position.

DS VS ol 28 PO Do DHAZ DVETDS Lo EOD 2 otren
FTARLE oA

II.  Morning at a constant rate. it takes the zebra 2 hours to reach the pond from the
Tr1ver.

DO 00l DO gﬁ Stioed awac:u.:)é 00 TPAGE) 2 fotie) HEIes0d.

Options:
1.1

k-2
-2

o
J= L

Question Id : 9909114411 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (21 to 30)
Question Label : Comprehension

Note: In each of the following 10 questions, a sequence of munbers or letters that

follow a definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence without
breaking the pattern.

Arsd:  $00 AN 10 9F) 05 98 0SB BDND Dosjen TR wETED 2D 8
SREDOD DodArd) FdoTm) . 9B 03 S eV FDYO Teud DAYEW
Moock DB wod  &arensd ;Jmlg)f:} e QaDATIS Sorfo  Lenritione
r8otrd).

Sub questions

Question Number : 21 Question Id : 9909114412 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

g, ¥ st I
Options:

1331



[
ot
I
[ B
ey

Question Number : 22 Question Id : 9909114413 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

15:224:: 17 :
Options:
| 289

. 208

5 288

4. 278

Question Number : 23 Question Id : 9909114414 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

17:306::19:

Options:
1 389

Question Number : 24 Question Id : 9909114415 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

et i S i,

Options:

| 221

231



Question Number : 25 Question Id : 9909114416 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Foot : Inch :; Year:

eac : esorvo 1 “ﬂo&f}eﬁ‘hﬁﬂ :

Options:
| week ordo
day &ex

S

month e

fortnight %o

Question Number : 26 Question Id : 9909114417 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

615,35, 71143,
Options:

7
1. 221

o L

5 165

4 207

Question Number : 27 Question Id : 9909114418 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ABC, BDF, CFL DHL.

Options:
1. EIN

EJP

[

; EIO

, EJO



Question Number : 28 Question Id : 9909114419 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

B3B8, II7F L1173, P15N,

Options:
| R19T

, Q1958
TIO9R

, S19Q

Question Number : 29 Question Id : 9909114420 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

6 35 143 323 667

Options:
1023
1 64
1147
7 68
1155
3 68
10835
4 66

Question Number : 30 Question Id : 9909114421 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

MILK : 54 :: CURD:

Options:
1 56

Lo |

67



Question Number : 31 Question Id : 9909114422 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
In the Following questions pick the odd thing out.

805 ADND 03 S 08 TG 1Gots1dw

Options:

| RIVER

LAKE
; DAM

4 POND

Question Number : 32 Question Id : 9909114423 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
In the Following questions pick the odd thing out.

8005 ADND 03 S 08 TG 1Yot

Options:
| (143.4)

(26.4.6)
(37.5.7)

, (70.8.9)

Question Number : 33 Question Id : 9909114424 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the Following questions pick the odd thing out.

8065 RDND 03 S 08 TG DGossodw

Options:

143

899

-2



, 221

Question Number : 34 Question Id : 9909114425 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the Following questions pick the odd thing out.

8065 ADND 03 VS 28 IS DYocsodw

Options:
10
| 28

26
126

27
4 218

Question Number : 35 Question Id : 9909114426 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the Following questions pick the odd thing out.

8065 RDND 03 S 08 T*IB ot

Options:
17

1 GA

29

73
Ci

33
4 CF

Question Number : 36 Question Id : 9909114427 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Note:  Thefollowing question follow a definite pattern. Observe the same and
f1ll m the blanks with suitable answers.

63008: $00 FND 03) 26 PANBDOND JaADBF) JBL 0B
&5 DODAFD) V0D HBADD VIFETVE PO YO0l

BZE. DYH, HWN,

Options:
| MTW

MTV

-2

Question Number : 37 Question Id : 9909114428 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following question follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

12098: 806 QNS 03 28 DDNAOND DADLAFY B 0B
&5 DoDHATD) (1200 VO VAT TS arPO JrOotod.
7.10.16.28. .100

Options:
52
1. =

54

(]

Question Number : 38 Question Id : 9909114429 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following question follow a definite pattern. Observe the same and
fill 1 the blanks with suitable answers.

62008: 808 FND 0B 26 DA BN JoDIFI) JeR0d
&5 DODAFD)Y V0D HBADD VIFTFTVE PO YrOotsol.

4T, 16W, 52U, 484V



Options:

| 156Z

184Y

L-2

160X

160V
4

Question Number : 39 Question Id : 9909114430 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note:  Thefollowing question follow a definite pattern. Observe the same and
f1ll i the blanks with suitable answers.

(6008 $063 WD 03) 26 HANBDAND DoDAFY I 0B
&3 DoDAFD)Y V0D HBADD VIFTTVE PO PrOotsol.

E3V. MR, G12T, K45P,

Options:
| N135T

. T196R
I68S

4, P144R

Question Number : 40 Question Id : 9909114431 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following question follow a definite pattern. Observe the same and
fill 1 the blanks with suitable answers.

12098: $06 QNS 03 g HDNBOND DADLAFYY B 0O
&5 DoHATD) (120Do) VO VIFE TS arPO Jrdotod.

3.4,12.39.103,
Options:
| 196

, 220



Question Number : 41 Question Id : 9909114432 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Note:  Thefollowing question follow a definite pattern. Observe the same and
f1ll m the blanks with suitable answers.
63008: S0 RS 03 26 HIYBHoS DaLHF) JBR 0B
&3 DODAFD) AV HBADD VIFTTVE PO QFOotsol.

6.24.60.120.

Options:

| 180

5 210
240

4, 270
Question Number : 42 Question Id : 9909114433 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Note: The following question follow a definite pattern. Observe the same and
fill i the blanks with suitable answers.
12098: 806 QNS 03 g DDNB00D DaDAFD) SR 08
&5 DODAFD)Y V0D HBADD VIFTFTVE PO YrOotsol.

75,79.72.80.69.81.

Options:
; 71

Question Number : 43 Question Id : 9909114434 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Note:  Thefollowing question follow a definite pattern. Observe the same and
f1ll m the blanks with suitable answers.

63008: $00 FND 03) 26 PGV DaLBF) JBL 0B
&5 DODAFD) V0D HBADD VIFETVE PO YO0l

1.2.6.22 86,

Options:
| 342

S G

5 236

4 244

Question Number : 44 Question Id : 9909114435 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note:  Thefollowing question follow a definite pattern. Observe the same and
f1ll i the blanks with suitable answers.

(6008 $063 WD 03) 26 HANGDAND DoDAFY IR 06
&3 DODAFD) AV HBADD VIFTTVE PO QFOotsol.

0.6.24.60. 210

Options:
| 180

2 160
3 144

4 120

Question Number : 45 Question Id : 9909114436 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note:  Thefollowing question follow a definite pattern. Observe the same and
f1ll m the blanks with suitable answers.

(6008 $063 WD 03) 26 HANGDAND DoDAFY IR 06
&3 DODAFD) AV HBADD VIFTTVE PO QFOotsol.

13

4
thtg

11

[T



Options:

39
1. 7
2 8
49
3
81
4 7

Question Id : 9909114437 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 48)
Question Label : Comprehension

The following table gives the number of elected members of parties X. Y. Z. A, and B to
the state assembly. Study 1t carefully and answer the following questions

& 300 ?’.J{;Qéeﬁ"’ ﬁ"@m X Y. Z A 000 B 09 Goba) P U7 T 85 Jﬂlﬁ
TRICd DI DodF Ardomrd. A @@s ™ H83Vod) o QNS DT OD

2o7edoiod
year
1970 1975 1980 1985 1990 1995
party
X 20 60 50 40 35 26
X 200 160 180 220 224 140
& 80 70 60 40 G 138
A 35 50 40 20 25 30
B 15 10 20 30 35 10
Sub questions

Question Number : 46 Question Id : 9909114438 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What percentage of seats did party y get in 19907

T8 y £ BodD 0703 199085 D\ ) TS0 Joes?

Options:


https://www.aplustopper.com/previous-year-question-papers/

64

[

68

Question Number : 47 Question Id : 9909114439 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

what percentage of growth did the party A gain 1995 over the previous election?

1995¢5° a»g A £ 29069 200Gy 26A ;):J;Lsmfaﬁ 55%@ DEMIG Fo0 Doed?

Options:
;40

42

L2

3 44

46

Question Number : 48 Question Id : 9909114440 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many more seats did the party A get over the party B 1n all elections put together?

378 B 503 7§ A 3 090 DD S0e5” DD D) D) D DD D307

Options:
76
1

80

[

40



Question Id : 9909114441 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (49 to 53)
Question Label : Comprehension

The following pie chart shows the expenditure of a person’s monthly mncome on different
heads A. B, C. D, E and F. Basing on the information given in the pie chart ,

answer the following questions

w8 D58 VYY) BCrEDANES” Mol DEYWD PMNED € 300 P Do & QDEEOD.

& DOTETTEY) BEPCo TP SR S06s AN V3) O BTV QDT

Sub questions

Question Number : 49 Question Id : 9909114442 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the amount spent on the head D is Rs. 43,320, then the amount in rupees that he has
spent on the head E 1s

D D &5° 2ty 30D Dogo 6 43,320 2008 DA E &5 ey S0 dodo draraiees”

Options:
| 52.984

51,084

k-2

48,984

Ll

53,084

I

Question Number : 50 Question Id : 9909114443 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The percentage of his monthly income spent on the head D corrected to two decimals, 1s

296 DOV 537030085 Joed Feho DG D &° DAY DFrcH? (Raroeaed) Both G3oT03

6 Sonod)

Options:

, 614

6.34

L2

5 6.74

, 6.94

Question Number : 51 Question Id : 9909114444 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the income of the person in that month 1s Rs.93. 240, then the amount i rupees that he
spent on the head B in that month 1s

s Do)’ el eorabo Gr. 93.240 @ond DM B p 8 Do oo 300 DAY

draraiees’
Options:

18340

£ 18.420

]

5 18.130

18.080

Question Number : 52 Question Id : 9909114445 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the amount spent on the heads A and C together in that month 1s Rs 60.450 then the
amount he spent on the head B n that month 1 rupees 15

A, C DHoos® 59D & a0 2y Rs. 60, 450 exond B DES” &3 DY DN,

araraiees”
Options:

, 21.700



12.400

L2

20.450

18.360

Question Number : 53 Question Id : 9909114446 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the person spent on the head E is Rs. 11.520 in a month. then the amount spent on the
head C 1in that month in rupees is

es 3 E 0g0eS” &5 roes” ar 11,520 pddy S92 09m)@ & ardoe)” C Dgoed” S08
DAy ArJranees”

Options:
| 34.600

35,720

36.480

Lad

Question Id : 9909114447 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (54 to 55)
Question Label : Comprehension

60 students of a class were asked which TV programmes among A, B and C they had
watched on a particular Sunday. 30 had watched programme A. 38 programme B. 25
programme C, 18 watched both A and B, 12 both B and C. 10 both A and C while 4
watched all the three. Based on this information answer the following questions

60 a00d DTegden (e e00163e5° 25234 e30 TG0 P mc&maﬁé‘ A . B, C seoj8avron
D) Dy D20 @D AM®m. 30 0B A &. 382008 B &, 25 008 C &, 18 avod A
060w B &0, 12 00 B andain C & 10 avod A a0daid C &0 4 aod ey
5°0{5a0M) D20T°0) BDN0B. G DRIV BSTP00 TP Ba5D

2o mrﬁaé 03) VDO DATTEHo TODOC.

Sub questions



Question Number : 54 Question Id : 9909114448 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many watched only one programme?

Dod 00d 28 W) TOFEAFD) D& oordn?

Options:
1 16

L2

3 18

k2
hn

Question Number : 55 Question Id : 9909114449 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many watched exactly two programmes?

DO Toc) SPEFEATOMN TG Jod od D& or?

Options:

22
1, 50

18

-2

Question Id : 9909114450 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (56 to 60)
Question Label : Comprehension



Coding and Decoding Problems

§'éoh, dSdoh D5

In a certain code n® letter of the English alphabet is coded as (n+10)® letter cyclically. The
reverse process 1s used for decoding. with this information answer the following questions

28 DB FE e’ eso(f 980070 &' n & LT DY B8abone (n+10) & evgdore & e &

oA £ Defan DEBD EHOTAoTTD. € DATTTD) &Darfo)
Socs DD 2F) 0D DAFE"Ho TToOC.

Sub questions
Question Number : 56 Question Id : 9909114451 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
what 1s the code for the word "ATTACK”

"ATTACK 95 Doeda & D206d?
Options:
| LDDLMU

KDDENU

- KDDEMU

Laa

KDDEMV

Question Number : 57 Question Id : 9909114452 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The code for ‘APICET 1s

‘APICET £ &&
Options:
KZSMOC

—_

KZTNOD

]

KZSNOD

L

KZSMOD



Question Number : 58 Question Id : 9909114453 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘SYSTEM" 1s coded as

‘SYSTEM'® & &

Options:

| DIDEOW

CICDOW

- BIBDOW

Ll

CICDOV

I

Question Number : 59 Question Id : 9909114454 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

"USVV" 1s decoded as

USVV’ &H &8E
Options:

 KILL

MILL

L2

; BILL

, KISS

Question Number : 60 Question Id : 9909114455 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘BKREV" 1s decoded as

‘BKREV’ & Do  aFE dabecod.
Options:
, BAHUL
. RAHUM

RAHUL



4 RAHIM

Question Number : 61 Question Id : 9909114456 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Coding and Decoding Problems

Floh. A80h DB

If ‘BEAT’ 1s coded as ‘EHDW’. the code for ‘ROAD" 15

‘BEAT’ &0 ‘EHDW' = §& 3% ‘ROAD” & B&

Options:

, URDH

. UREG

; URDF

i URDG

Question Number : 62 Question Id : 9909114457 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Coding and Decoding Problems

§éof, Aok pRgen

If ‘SAFE’ 1s coded as “OWBA’. then what 1s the code for ‘CROW"?

‘SAFE &0 ‘*OWBA’ = §€ 339 ‘CROW’ % §& Dned?

Options:

1 YNEKR

YNKT

L-2

YNKS
4 YNLS

Question Number : 63 Question Id : 9909114458 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Coding and Decoding Problems
Eéof, A5 doh pRge

In a certain code language if the word ‘TOKEN" 1s coded as “YTPJIS’ | then in the same
code language the word *CLOSED’ 1s coded as

28 DPQIOM EE eres” ‘TOKEN' e Doy YTPIS® & Swdh 098 BE erned’
‘CLOSED’ 99 yorDa 6
Options:

j HQTYII

HQTXII

k-2

HQTXKI

HQTXJH

Question Number : 64 Question Id : 9909114459 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Coding and Decoding Problems
§éof, Aok pRgen

In a certain code ‘BEST’ and ‘PORT’ are coded as 51 and 84 respectively, then in the
same code “WORD' 1s coded as

25as §€ ¢5° ‘BEST’ 2ubain ‘PORT @& HE0RM 51 avdoiv 84 e &€ 3 098 §€ &
“WORD’ & &

Options:
. 60

65

L2

T

183

Question Number : 65 Question Id : 9909114460 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical


https://www.aplustopper.com/previous-year-question-papers/

Coding and Decoding Problems
Eéof, A5 doh pRge

In a certain code the word ‘RAMBO’ and ° BRING ¢ are coded as 114 and 109
respectively. then in the same code ‘BLIND’ is coded as

w538 £ ¢° 'RAMBO’ &wboiw * BRING” &xkn ddomr 114 &vdaiw 109 m &&
drotond ed §€ ¢° ‘BLIND” © &

Options:

91

82

-2

13

4 H

Question Number : 66 Question Id : 9909114461 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
34, davabo, w8se DD e

The number of leap years in between the years 2018 and 2126 is

2018 20dain 2126 Dods oo 0G5E° OD DodB T Do

Options:
;24

k-2

Question Number : 67 Question Id : 9909114462 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
34, davabo, w8se DD e

The angel between hour hand and the minute hand of a clock when the time 15 5.40 1s

20010 5.40 9000 (COITE0eS” (10830 &0eD Danare aewe ey &'



Options:
77°
lo ®°

Question Number : 68 Question Id : 9909114463 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems

34, davabo, w8se DD e

If two hands of a clock coincide (are together) every 64 minutes. the time gained. in
minutes, by that clock in a day 1s

w8 AAaPCoeS” Toc Awenen 64 DTOFEID Senntiot) e farto ws Beaves”
erdio SFod Davaio (Dawhdwers’)

Options:

34
1.

2
(=
=

Question Number : 69 Question Id : 9909114464 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
84, davabo, ewsse Ddidgen

If P is the wife of the grandson of the father of father of Mr R and R’s father is the only
child of his father. then P 1s related to R as

Mr R adng); ol 010E). S06S dnanc &°0f P esan, R alng) dog, 06 dogs ws) &

PoieHo eaond R £ P moeodo



Options:

| Sister Fod

Aunt  od/sol b

]

Daughter —in-law &cen

, Sister — in- law A 74 J00Gew

Question Number : 70 Question Id : 9909114465 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
84, divabo, wsse Ddiwdgen

A bus for Tirupat: leaves every two hours from Bangalore bus station. An announcement
was made at the Bangalore bus station that the bus for Tirupati had left 40 minutes ago
and the next bus will leave at 4.00 pm. At what time the announcement was made?

BoIHIPE 830y V0D Ao Daber Got Mot wé B0y BHDAE 3 LoLEOSEBE.
BorbHrm By HAM &° BHDHA 3 DTy Y 40 IWare 360 DPoBD B BT

237004 4.00 p.m £ 220eNBEBG 9 DEBOTW. & HELD BVH PAODO?

Options:
; 2.20 pm

2.00 p.m

]

240 pm

4 230 pm

Question Number : 71 Question Id : 9909114466 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Date, Time & Arrangement Problems
84, davabo, w8se Didgen

A person came to his office 40 minutes late at 10.55 a.m on Friday. Next day he started
carly and reached his office 25 minutes before the scheduled time. Then the time of his
arrival at office on Saturday 1s

0700 28 I8 8 sToripairds 40 Daen esoRgor 10.55 am 3 ST .
DD F2r ) AT LaLeNdd SPorRairas Db DAOLAET 25 Ddoaren
SO amg:mn;lm. £ BB 3IT°Co S“U"gﬂcm“:jé :31:313&3&)‘1 Paboio

Options:

, 0.50 a.m

9.55 am

3 10,00 am

10.05 am

Question Number : 72 Question Id : 9909114467 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
38, davabo, 85w Hivdyen

5 persons A, B, C. D and E are sitting around a circle facing its center. B sits between A
and E. C 1s sitting on immediate right side of the E. Then the person on the immediate left
ofDis

5 b oggren A, B. €. D avdain E o 28 &yZrsoor Somrdanaor Srinae) @. A
B0 E o gy B ﬁmaaﬂ‘lch. E 3 Daonotrn odpay) C ﬁfﬂm&a‘um. e D 3
DADOLD IED P LIANDY D58

Options:
] A

[
r.-:l



Question Number : 73 Question Id : 9909114468 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
88, divabo, wsse Diwdgen

If A denotes multiphication. * denotes subtraction, V denotes addition and € denotes
division then 10V8 € 2 = 5A3 =7

OBHNaLEa A & ardod) . SgDSOTIY * & Ardod). DosoT V 7 ardon)
oDy B & 2o 10V8 @ 2 = 5A3 =7

Options:

-
12

-6

k-2

Question Number : 74 Question Id : 9909114469 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
88, divabo, wsse Diwdgen

Ifx*y= i + i for all x, y € R- {0} then ( 4%5)* (3*2) =

o) X, yER- {0} 0O x ¥ y=2+ = oo (4#5)* (3%2) =?
x ¥

Options:
| 60
23
7 20
154
3 45
121
>4
4

Question Number : 75 Question Id : 9909114470 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Date, Time & Arrangement Problems
84, davabo, w8se Didgen

Formn € R define m*n=m+n—2and m@n ===

then (3+5)®(9*7) =2 )

m,n € Hﬂﬁ}m*n=m+n—2@3mﬂﬁn=%@§)ﬂﬁ5€)?g@@aﬁj
(3+x5)B(9+7) =2

Options:
;48
2 42
3 56
4, 58
Mlathematical Ability
Display Number Panel: Yes
Group All Questions: No

Question Number : 76 Question Id : 9909114471 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
08I Jod gav:i

(32.1’-[—4- % 94.‘(‘+2] s {gx+4 4 32x+2) i 95 = x =2

Options:

Ll

Question Number : 77 Question Id : 9909114472 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
e908iedeh avmgﬁa

Ifx=ﬁ—\.frﬁthenx4+x—t=
x=ﬁ—\/§mo‘j.x4+x—1=

Options:
| 674

675

[

776

, 676

Question Number : 78 Question Id : 9909114473 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
9083 et gsv:i

If5(x2+y2+z2%) =4(xy+yz+zx) thenx:y:z =

5(x%+y2+2%) =4(xy +yz + zx) @00 x:y:Z =

Options:
; 8:1:4

2:1:8
3 4:1:8

4:8:1

Question Number : 79 Question Id : 9909114474 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
e90Sricdch avmgsa

x ¥

IZXIxy =1 i3 = —I—=
yz:zx:xy =1:2:3 e
Options:

1 4:1



1:4

[

Question Number : 80 Question Id : 9909114475 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
0SS g o

4+ 4+J4+~34+---m=

\
Options:
ViT—1
1. 2
1+1."'ﬁ
o 2
l+y"ﬁ
3. 2
Vviz—-1
4. %

Question Number : 81 Question Id : 9909114476 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
0053 g.d

8+ 2V15 =
Options:
V3B
, V6—+3



3 V3+v5

, 3+V5

Question Number : 82 Question Id : 9909114477 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
e908riced .avmgaa

If 11 divides 29x03 then x=

29x03 &0 11 D3yoft 270, eyt x=

Options:
l. 3

Question Number : 83 Question Id : 9909114478 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
e908riced .avmgaa

How many integers are there from 200 to 400 which are multiples of 77

200 Qooct 400 a0 7 o&ngb (Lederen ©ady QPgrosTen ;)3‘1'?

Options:

27

1.

28

-2

29

4. 30

Question Number : 84 Question Id : 9909114479 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
eoSticddd avmgﬁa

The smallest positive integer which when divided by 6, 9. 12 and 15 leaves 5 as remainder
in each case 1s

6. 9. 12 b0 15 ©F rAcDIDNED, VO WoGEHoS WP § IRAN @Sy S
BRI oS0
Options:

| 545

180

B

;365

4 185

Question Number : 85 Question Id : 9909114480 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eoSticddd avmgﬁa

A trader has three kinds of oils. the first kind 462 liters. the second kind 286 liters and the
third kind 187 liters. What 1s the least number of tins of equal volume required to fill them
completely and store these oils without mixing?

W8 HEHE AP0 BonSy (AFdv) S8H &T7) . AGH 650 462 baw,
Oocd0go 286 Bexdd wBosn awesd GS 187 Baxm. & Irdodn w8’ w8
SOD80EE DU WOEAS PO Dowiie) DA w8aTreon B Cerye £ R0

Joes7?
Options:

=

&3

-2

3 95

, 105

Question Number : 86 Question Id : 9909114481 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical


https://www.aplustopper.com/previous-year-question-papers/

Arithmetical Ability
908 ie3eh avmgﬁa

(1-2)(1—2)(1-3)(1-5) o (1-2) =

Options:
30
1 51

Question Number : 87 Question Id : 9909114482 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
e908rcddd ey gav:i

0.234 =

Options:
232

| 9909

232
29990

k-2

0.232
3 9909

232
4 990

Question Number : 88 Question Id : 9909114483 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
e908iedeh avmgﬁa

The increasing order of @ = V7 —V6,b=vV3 —V2,c = V6 —V5,d =v2 — 11is

a=\V7—V6,b=vV3—V2,c=vV6—-15,d = V2 — 1 & cwg), estaragae

Options:

y 6 a b d

a c b, d

-2

a c d b

a d e b

Ea

Question Number : 89 Question Id : 9909114484 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
e908iedeh avmgﬁa

9 85 i

The smallest among —,—, = and —1s
2119”6 8

9 8

11’9’
Options:

% A08050 ge_.:@‘ £330

& |

S

W~

Question Number : 90 Question Id : 9909114485 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
eoSticddd avmgﬁa

A person gave 12% of his money to charities. After spending 80% of the remainder. he 1s
still left with Rs.264. The amount of money he had at the beginning. in Rupees. is

w8 953 B3 HPDY Tanyes® 12% oodo SFd. MDD oedS” 80% S
QOEAP A7) DG Gr.264 A Gotl, GE” B DY o Tawy (Cr.0e°)

Options:

;2000

2500

L2

5 1800

1500

Question Number : 91 Question Id : 9909114486 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eodrcdd I gavj

When 40% of a number i1s added to 84. if the resultant 15 the number itself. then that
number 1s

a8 }i:-o;:r?g D?LDSET 40%0, 84 & Eﬁbéﬁ:}hﬁj FeldlaTola i eﬁ"n)oa:g R, Eﬂmhc:f.} £g "n)o.:pé

Options:
;120

140

-2

5 150

160

Question Number : 92 Question Id : 9909114487 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
eoSticddd avmgﬁa

A man purchased 11 books for Rs. 100 and sold at the rate of 10 books for Rs. 110. How
much percentage of profit or loss he made on a book?

28 a58 11 pystod dr.1005 §9, dr. 1108 10 HRstadne @), 96 w8

)RS0 Jod T o erdio For P Towr?
Options:
Loss 11%
11% Q0

Profit 11%
11% er#o

Profit 21%

3 21% erdo

Loss 21%
2 21% R)Qn

Question Number : 93 Question Id : 9909114488 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eoSicdad avmgsa

To successive profits of 8% and 10% are equal to a single profit of

8% aboin 10%e oﬁpﬁb G008 erdiaen, 9 cﬁﬂsb e ad Darran?

Options:
| 18%
1929
19%
3
182%
4 3

Question Number : 94 Question Id : 9909114489 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
eoSticddd avmgﬁa

P and Q enter into a partnership with capitals in the ratio 9:7. At the end of 8 months Q
withdrew his capital from the busmess. If they received profits in the ratio 9:4, the time (in
months) P’s capital remained. 15

P a0dain Q en 9:7 D0yded devecood w8 eradranges” Soem. § duen Jrd
0NN BMmT S Q & TG0 Aol B DEVIED DAED SWET . T 9:4

A0S eraro) Jodd, P ad 2enedd &odd oo (Rowes’)

Options:

14
1.

Question Number : 95 Question Id : 9909114490 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
evosticded aomgsa

In a partnership. P. Q and R shared profit in the ratio 1:4:5, If the total profit 1s Rs. 55.000.
then the difference of profit between the shares of P and Q (in Rs.) 1s

@8 eradrgangoss” P, Q 0doin Rew ergiawid 1:4:5 DO de” DodhtHam) . o
ergo 6°.55.000 e9008, 93y P awdoin QU dng), erere Trere gy 6o (cioe.
ee5°)

Options:
| 11,100

16.500

]

15.600

14.500

Question Number : 96 Question Id : 9909114491 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
eoSticddd avmgﬁa

A pipe can fill a tank in 9 hours. Due to a leak in the bottom, it 1s filled m 10 hours. If the
tank 1s full. then the time (in hours) that the leak takes to empty that tank 1s

28 D) s pf?tg;tu 0 tiotreres” Dodrec. 7D et &c‘i)‘l 28 oty SEOoTT, €9
10 flotsees” oA, &8 FG PYT Dot &otd TP Y BADEEIS & Gogan HRLED

snoio (fotreres®)
Options:
1 85

60

L2

3 90

i 80

Question Number : 97 Question Id : 9909114492 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eosticddh .avmgaa

Two taps P and Q can separately fill a cistern in 36 minutes and 45 minutes respectively.
After both the taps are opened simultaneously by what time (in minutes) the pipe Q should
be closed so that the cistern is completely filled 1n 27 minutes?

P a0boin Q e9d Toc Swvrowen 8 ﬁﬂgm DEDETT 36 Dawarees Ay wdoiw 45
DAVTVG R DT DoDdABY. Tot EFonw 880" B0DN adors, §¢§ 27

Nawaroes® Dorroot Jodsterdd (Daware €5°) vron QD avooaird?
Options:

i
2

12

(]

12

11

ke | =



Question Number : 98 Question Id : 9909114493 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eoSticddd avmgﬁa

Car A starts at 8 am from the place P. with a speed of 65 kmph. Another car B starts at 9
am from the same place P. and follows the car A with a speed of 70 kmph. Then the
meeting time of the cars A and B 1s

28 D370 P 200d A 9 &8 5700 65 3.0/ 0085 Dol § amS 2obendddod. B esd
o8 =M e9d HAFo P Juod 70 3.20/ 00t Do 9 amd exaiendd A DdoardJod.
9y &8 5700 A a0Baiw B e genanS o RNaoio

Options:

| 4pm

6 p.m

k-2

5 8 pm

10 pm

Question Number : 99 Question Id : 9909114494 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eosticddh .avmgaa

A bus covers a total distance of 400 km for its to and fro journey, in 8 hours. If the average
speed of the bus in the onward journey 1s 25% more than that in the return journey. then the
speed of the bus in the onward journey (in kmv'hr) is

28 20y 400 3.2 oo codonw w8 TR0 Ao GBA ToRL PO § fotiewes”
QPG BWod. DTy DOITES” & Y AIVE), VD Do, BOMD VAT Kot 25%

©dS0 ©ond, DT, Doireaces” es £y a30E), Drio (2.20/ totrsd)

Options:
252
l. 4
50~
3 %
56~
3. 4



Question Number : 100 Question Id : 9909114495 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eoSricdah avmgaa

P alone can do a work in 15 days and Q alone can do 1t in 20 days. With the help of R they
finish the work 1n 5 days. How many days R alone will take to finish the work?

28 DI P wfa 15 Bered’an anbBoiv Q W E 20 Farerei’sn 2rd Sobood. R
Moo T &3 DA 5 Faeds” 3FM. R 288 & DID 18 Sobemdd D) Fwen
B0 otrc?

Options:

i

10

L2

Question Number : 101 Question Id : 9909114496 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
evosticded aomgsa

5 men can prepare 10 toys in 6 days working 6 hours per day. In how many days can 12
men prepare 16 toys working 8 hours per day?

5 DI Tt 6 foten Fapyd D do 6 Faweods® 10 Ao oroird
SFM. 12 008 PO T2 8 fotren Ty DD S 16 5000 I Fwees

@Eairdy Sardh?

Options:
i. 3



Question Number : 102 Question Id : 9909114497 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
e08rcddd e gsv:i

If the area of an equilateral triangle is 43 sq.cm.. then its perimeter. in centimetres, is
208 DETETPUM DO r:.ﬁj“égj DT 43 ©5.220.5) esondd RITINED o° o) mﬁgjﬁuﬂ,
20t) dneges”

Options:
1 15

12

L2

3 18

Question Number : 103 Question Id : 9909114498 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
o anmgsa

The length and breadth of a rectangle are in the ratio 7:5 and its area 1s 3500 sq.cm. What 15
the permmeter of the rectangle. in cm?

28 Booduopo g TaE) B0 DEVyED T:5 DHAS” &T7yon da oo
DF050 3500 ©.20.20. &5 BGHBCR0 0INE), ED Fod, 0.3 O, Jod?

Options:
| 220

5 260

3 240

Question Number : 104 Question Id : 9909114499 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
eoSticddd avmgﬁa

If the surface area of a cube 1s 726 sq.cm.. then its volume. in cubic centimeters, is
28 T0Aa cﬁ:u% [=relalald) FSESITIY 726 ©3.20.00 €900, "D VDT, 20D

Dotaneges’

Options:

| 2197

1728

-2

5 1000

, 1331

Question Number : 105 Question Id : 9909114500 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eoSricdah avmgaa

A solid sphere of radius 10 cm 15 melt and moulded mnto § solid spherical balls of equal
radwus. The surface area of each ball. mn sq. em. 1s

10 Do.a) a7§rgo (o) 28 (18 Hvomd £8A0L) DAFIRM JP§rgaw (DA 8 ) Hvrso
2B FOT'I 0. D6 LoS Y HEBDATHCROD 3.20.4) O’

Options:
, 100m

80m

-2

; 88w

96w

Question Number : 106 Question Id : 9909114501 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability
eoSticddd avmgﬁa

The breadth of a rectangular plot 1s 75% of its length and the perimeter of the plot 1s 1050
m. Then the area. in square meters. of the plot 1s

28 BY SBOCTEC Yoo L) DDy, TP TEPL 75% €od B o7 LTS

1050 060 &08. BRI & Yoo TN, PFTO50 ©.00.a0eIFS”

Options:
| 64.750

65.000

-2

£ 67.500

56.800

Question Number : 107 Question Id : 9909114502 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eodrcdd I gavj

The base of a triangular shape field 1s 3 times 1ts height. If the cost of cultivating the field at
Rs.73.44 per hector 1s Rs, 991.44, then the height of triangular field (in meters) 1s

w8 SIS o GINE) BTE00, T IBDD 3 Y, & TV F FoDED3
T Ar.73.44 FEDyD 0°.991.44 0y 00, &3 s oo & (eges”)

Options:
| 320

[

280
3. 360

4 300

Question Number : 108 Question Id : 9909114503 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
eoSticddd avmgﬁa

The breadth of a cuboid 1s gof its length and its height 1s % of its breadth. If its volume 15 72
cu.mts, then its surface area. in sq.mits, 1s

[ 2 e
w8 Agando g DEey, T Sranes” S ©080 @I T G, DENS” ZO
DO, TP AWHVBATE0 T2 DA ADLD ©od, DN TP DORFPIHURT L0
2. e

Options:

124

108

B ]

3 144

, 116

Question Number : 109 Question Id : 9909114504 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
e08rcddd e gsv:i

Options:

| 451

541

-2

3 415

4 514

Question Number : 110 Question Id : 9909114505 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
e0sricded aomgsa
1“1(2} + llﬂ,;:zj =

Options:



10102,
5 11014

1']'11{’2]

1001
4 @

Question Number : 111 Question Id : 9909114506 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Ddon, ergdaD 208
P—-(Q—R)=

Options:

1 (P->Q)—>(Q@—+R)

B Sl vl S

]

. (1PVQ)~R

i W AR

Question Number : 112 Question 1d : 9909114507 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Ddob, sodab P08

The negation of the statement p V (~p A q) 1s

PV (~pAq) dng), H§HBTS D0
Options:
, B A~q

L-2

~pAq



s ~ng

Question Number : 113 Question Id : 9909114508 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Ddap, ergdabd 08

If A={(x,y) € z x z|]x* + y? < 16}. then the number of reflexive relations defined on
As
A={(x,y)ezxz|x* +y® = 16} eond, Ap IOWod(L DTDGH DOLIOEAVE)

un)GﬂJ_a
Options:

2352
1 2

224&2

L2

211?6

22401

Question Number : 114 Question Id : 9909114509 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Ddon, 5odab P08

If n(A) = 5. then the number of relations on A which are not symmetric is

n(4) = 5 esowd®, A p e ﬁvﬁg;msusaeg 20RO VoD

Options:
215

l.
. 215(1023)

215(255)

225

Question Number : 115 Question Id : 9909114510 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

Ddap, ergbab g

Let f be defined on [0,7] and g(x) = |2x + 1|. Then the domain of (fog)(x) 1s

[0,7] 2 f Dogdoserddd wboin g(x) = [2x + 1] edoEero. )y (fog) (x)
as), Hdso

Options:

-6l

Question Number : 116 Question Id : 9909114511 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Do, 2rgdod Fg s

The equation of the straight line passing through (-5.4) and which makes an intercept of

%— units between the linesx +2y+1=0andx+2y—1=0.1s

(-5.4) (Do PEw, X + 2y + 1 = 0 8a0 X + 2y — 1 = 0 HOVEDO E§ —= CDPIY
W

£90E9G DA ) DOY J2) Dabsttao
Options:

| 3x—y—5=0
s X—2y+7=0

3 2x—3y+14=0

, 2x—y+14 =0

Question Number : 117 Question Id : 9909114512 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

Ddap, ergbab g

The equation of the straight line passing through the pomnt (-2.3) and which makes
intercepts in the ratio 1:3 on the coordinate axes. is

(-2.3) Docday Moz Far, IOFOS o 1:3 ANyGe® Woatpomrw 30 VOV

0308, DOEGER0
Options:

| 2x—y+1=0

. X+3y—-7=0
33x+y+3=ﬂ
4.J«c—r—y—1={}

Question Number : 118 Question Id : 9909114513 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Ddap, ergbab g

tan 480° + sec 510° + cosec 750° + cot 765° =

Options:
.
), 37V
. B
3. V3
5
S

Question Number : 119 Question Id : 9909114514 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Ddap, ergdabd 08

sin 150° — 5cos 300° + 7 tan 225°
tan 135° 4 3 sin 210° B

Options:



-

[ ]

Question Number : 120 Question Id : 9909114515 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Ddap, ergbab g

Ifsecf +tanf = g then sin@ =

secd +tan@ = g £90063, N sinf =

Options:
3

13

12

12

o | e

Question Number : 121 Question Id : 9909114516 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Ddap, ergdab g

The height of the pillar when it i1s found that on walking towards it 60 meters n a
horizontal line through the base. the angle of elevation of its top changes from 30° to 60°,
its height (in meters) is

w8 Poio arcd Moz Jadh Laa G Dowrd RYowoP) 60 HLW® HEIIE, e
Rozseaio OI0E); &sgﬁgmo 30° 00c 60° £ ATBHLNT ADDY, ) EEs Yoo S by
Q0erges”

Options:



153

30V3

L2

| 45V3

103

Question Number : 122 Question Id : 9909114517 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Ddap, ergdab g

The smallest value of x for which (1_;5 + 35) (4—x%)=01s

(Z+36) (4—x) = 0 2 3, 2063 x cIE), EDY Dewsd

Options:

e
, =

_1
3. 2
3 ==
4. —3

Question Number : 123 Question Id ;: 9909114518 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Ddon, 5odab P08

1

21
If @ and B are the roots of the equation 8x% — 3x — 27 = 0. then the value of (%)3 +

(5 -

1
@ 2Bow feo Bx2 —3x —27 = 0 PDEdm0 TR, AwroAgS, e () +

1

(‘B—Z)E tﬂméﬂj a)€1a)

a

Options:



d |

[

ra |

=R

Question Number : 124 Question Id : 9909114519 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Ddap, ergbab g

If the number obtained after subtracting x from 2035 leaves the same remainder 5 when 1t
1s divided by 9. 10 and 15, then the smallest possible x 1s

2035 200 x D HUDODLT SIS Vo 9. 10 08aIw 15 &3 Ao 23 3o
5 DR, a0 o) DTN £ x

Options:
1. 33

40

]

3 45

4. 50

Question Number : 125 Question Id : 9909114520 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Ddon, 5odab P08

If the remainder obtained when a certain mteger x 1s divided by 5 1s 2. then which one of
the following is never an mteger?

28 DPY Dowf x D 5 S WrHoDDYE DSy Fo 2 ond, & 306 T2 DS ws
Qrgoong 5T IO?

Options:



11
A,
10
3.
X
6
4

Question Number : 126 Question Id : 9909114521 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Ddap, ergbab g

Rahimm 15 6 years older than David and David 1s 8 years older than Amar. After 8 years, if
Rahim will be twice as old as Amar. then 4 years ago, David’s age was

GoreD, EDE S0t 6 RODBNTED DATCD), EDE 00 S08) 8 DoIBT D DETCD. §
RoDONT Bdd Garad e9:06 Hoé) EQD?’&D S0DASTE) e9:)E00E], 9N 4

R0DBYT® S06e), EDE DOy

Options:
;16

14

L2

12

4 10

Question Number : 127 Question 1d : 9909114522 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Ddob, gdab P08

Set X contains 10 consecutive integers. Sum of the 5 least numbers of the set 1s 265, The
sum of the four greatest numbers of that set 1s

X e90 Rand 10 Hdw @gmamﬁum £9A Sod. €3 wanaes’D 5 53%{ “&::o;gjér;: SEdo
2065. &3 Doy oﬁn% PR (103 WoDIR VB

Options:
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290

280

L2

Question Number : 128 Question Id : 9909114523 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Ddap, ergbab g

If the sum of three consecutive numbers in a geometric progression is 26 and the sum of
their squares 15 364, then the product of those numbers is

w8 RICHD rE SO Doy Do 26 BT aeed .;:rga‘um Qwedan 364
e900)E3, e R0 I

Options:

| 729

512

-2

343

Question Number : 129 Question Id : 9909114524 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Ddap, ergbab g

The sum of all the natural numbers between 100 and 1000 which are multiples of 5 1s

100 Qooc 10000 Soayrier ?a‘z.’ree:?aoa;gmﬁ* 3 0S5 (HEPY B0

Options:
| 96350

98450

-2

98960



4 108280

Question Number : 130 Question Id : 9909114525 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Ddob, gdab P08
1

10
The middle term 1n the expansion of (Iz = E) 15

10
(xz = i) 0, DHORESD DS
2x =
Options:
56
T,
:

-2

Question Number : 131 Question Id : 9909114526 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Ddon, 5odab P08

: . . ! 5 .
The numerically greatest term in the expansion of (2 + 3x)° when x = LS

x = E 20008 (2 + 3%)° D8, DORES® oarge) Sorr (BHRD Do

Options:
Ix152

1. 8
5x152

2 8
5x15%




3x 154
4, 1a

Question Number : 132 Question 1d : 9909114527 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Ddob, gdab P08

a=[> 7] thenat—a2+a2-a-

B —=% 5 Wy %%
A= T]| oo, ey at -4+ 42— 4=

53
B3
5.
) &

Question Number : 133 Question 1d : 9909114528 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Do, 2rgdod Fg s

x—2 &Ix—3 3Ix—4
The value of x for which the matrix |x—4 2x—9 3x — 16| does not possess
x—8 Zr—2F 3x—04

Inverse. 1s

r—#a 2x—3 3x — 4
=% =9 IT—186
r—8 2x—27 3Ix—64%

Options:

09D PGS DS a0 FL0r EoLEENOE X GIVE) Ded

102

-2
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Question Number : 134 Question Id : 9909114529 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Ddap, Fdan g o

of
1i gr—
m — =
0] +x—13
Options:
L 0
2 1
2
s e
4 oo

Question Number : 135 Question Id : 9909114530 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Ddap, rsdan 208

- x*—-81
im =
x—3 2x>—5x—3

Options:
1. 0

102

108
b

Question Number : 136 Question Id : 9909114531 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

Ddap, ergbab g

In the adjoiming figure. ABCD i1s a cyelic quadrilateral in
which AC and BD are its diagonals. If~DBC = 55° and
£BAC = 45°. then «BCD =

& YLD NS HF0H DEOWBO ABCDe&® AC d0baiv

BDen OSgaen. £DBC = 55° s»bBainy £BAC = 45°

Options:

757
1.

80°

3 85°

4, 70°

Question Number : 137 Question Id : 9909114532 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Ddap, ergdabd 08

A and B are the end points of the longest line drawn 1n the cirele with centre x. If C 15 a
point on the circle such that AC=Ax=3. Then the perimeter of AABC 1s

x Sogawrrrie aydeed” AN esng Tapsd S8 A ndain Ben Sddociapen.

AC=Ax=3 eyt )00 Doca) C &otd, Ny AABC GIns), dognEee

Options:
o3
1 2
2 9
: 6+ 33

4. 9+ 33



Question Number : 138 Question 1d : 9909114533 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Do, 2rgdod Fg s

A. B and C are three points on the circumference of a circle with centre O. If in AABC

/B = 60° and £C = 70° then #BOC =

So@aw O (10 2.5 dydo dws), D8O A. B andain Cean e Dotapen. AABCeS®

£B = 60" 8ot £C = 70° e9008 e3¢ £LBOC =
Options:

o
i 100

5 F
3 90°

80°

Question Number : 139 Question Id : 9909114534 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Ddon, ergdaD 208

If A(3. 10), B (-3.4) and C (5.8) are the vertices of a AABC and AD and CF are its
medians. then the ratio of the length of AD to the length of CF 1s

A(3. 10). B (-3.4) 208030 C (5.8) en 8 Sevwo AABC ahog) 3ganen andoin AD,

CF e o) Q0agiesanen ©00d, o)y AD JFaayds CF FEapd 206§ Days

Options:
v10:4/13
l.
v12:v13
5 V10:/9

4. mm



Question Number : 140 Question Id : 9909114535 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Ddap, ergbab g

If (-2.-1). (1.0) and (4.3) are three consecutive vertices of a parallelogram. then the sum of
the lengths of the diagonals of that parallelogram 1s

(-2.-1). (1.0) 0B (4.3)e0 w8 DATHE SAIWHBo CIVL) AP HWR IGVTH,

€ DT 0BCBICN R0 011)53’ Q500000 FEne awedo

Options:

| 213

5 132413
3 2413

2(1+v13)

Question Number : 141 Question Id : 9909114536 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
oy avmgsa

The arithmetic mean of 28. 32. 34. 24, 42 .46. 38. 36 1s

28.32. 34, 24, 42,46, 38, 36 © 0I05), 90527760 00

Options:
1. 37

34

-2

36

4, 35

Question Number : 142 Question Id : 9909114537 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statistical Ability
S ENE b‘mgsé

The median of 18. 16. 18,12, 10, 14, 16 1s

18,16, 18.12. 10, 14. 16 005, aDETIEI)

Options:

| 18

16

[

; 14

Question Number : 143 Question Id : 9909114538 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
Jrogs é‘;‘ngﬁé

The mode of the following frequency distribution 1s

& S0 DHado cﬁnﬁ& E)aTPOFE )

X 2 3 4 5 6 7 &
f 4 9 16 | 25 | 22 | 15 7 3
Options:
;4.5
2 4
3 3
4 B8

Question Number : 144 Question Id : 9909114539 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statistical Ability
S ENE b‘mg‘sé

The standard deviation of 6. 7. 8. 9. 10 1s

6. 7,8,9: 108 ::ﬁ:ogb SaaHII)

Options:

1, 2

VE]

b3]

PAY

Question Number : 145 Question 1d : 9909114540 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
SLENE é';‘.ugaej

The standard deviation of any three consecutive integers 1s
DPT° QT DD QPGR0ae) a30E), EaDDBODHA0

Options:

T

-
ol v

Question Number : 146 Question Id : 9909114541 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statistical Ability
Jopys b‘mg&é

(n—1)n{n+1

If d; stands for the difference of ranks and if 27, df = ). then the value of the

coefficient of rank correlation 1s

(h—1)n(n+1)

d; &6, 80 6y HBan Ardd baw YL, df = eI0008, €9

E8) Daroerod Mdaw a0E). Densd

Options:

75
078

L2

Question Number : 147 Question Id : 9909114542 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
oy b'mgaé

A problem in Mathematics 1s given to three students A, B and C whose chances of
- 1A 1 . : - :
solving 1t are Sv and = respectively. What is the probability that the problem will be

solved by at least one of them?

ricdedoes’ D 2.8 rammsm A. B s0Baiw C 9D mgam baﬂﬁgjuﬁs @a‘am, ey DD

FBoste Hogragen ST S08050 % T°8e° &0 2EM e DAVED

Lo

]

[

FEoADH SIS

Options:
2

], B

| pa

-2

Ul | e
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Question Number : 148 Question Id : 9909114543 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
oy ;:r:mgﬁa

If a card 1s drawn at random form a well shuffled pack of 52 cards. then the probability
that it 1s a spade or a king 1s

e 00 52 DY S00E) L0 (10 208 E}Erg DS 56000 w8 DE O ArGydySorr

B, 90 w8 QYLD To@ Trer DE Q). 5710 VoLT°IO

Options:
2
1. 13
4
il 13
2
3 13
i

Question Number : 149 Question Id : 9909114544 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
Fopgs bvmgaé

The probability that a non-leap year has 53 Mondays 1s

D) DodeyGo SN w8 DodtOo 53 Fanarcanes $HA eol Nowrage

Options:
2
1, *
1
7, F
2
3 7
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Question Number : 150 Question 1d : 9909114545 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
SLENE é';iugaej

A and B are two sets such that n{4A) = 3 and n(B) = 2. If a relation from A to B is
selected at random. then the probability that the relation will be a function is

n(A4) = 3 0daiw n(B) = 2 ecdhitxnm A dodoin Bew o Rabeen. A dod B3

28 DOLOEEYY CIFEHIN 0T Jos B3R, &8 oG wE DEVAIO SR VoL

Options:
1
2
1.
1
s e
3
8
3
1
4. 8
Commmunication Ability
Display Number Panel: Yes
Group All Questions: No

Question Number : 151 Question Id : 9909114546 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:
Angst

Options:
anger

horror

"



% deep anxiety

evil thoughts
4.

Question Number : 152 Question 1d : 9909114547 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Exotic

Options:

Excessive

Exciting

k-2

Foreign

Miserable

Question Number : 153 Question Id : 9909114548 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Aberration
Options:
1 Adherence

Subjectivity

k-2

" Abhorrence

Deviation

Question Number : 154 Question Id : 9909114549 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Gratuitous

Options:



LINeCccssary

crateful

k-2

4 compulsory

optional

Question Number : 155 Question Id : 9909114550 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Deferential

Options:
Differential

l
Respectiul

Postponing

Doubttful

o

Question Number : 156 Question Id : 9909114551 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Subservience

Options:
misbehaviour

submissiveness

disobedience

subversion

Question Number : 157 Question Id : 9909114552 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Fill in the blank choosing the correct word:

Money lenders are often accused of . as they are habituated to recovering by
force or threats

Options:

eXCuUrsion
l.

exhaustion

exposition

L

4 extortion

Question Number : 158 Question 1d : 9909114553 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank choosing the correct word:

Once committed to their goals. people work with a missionary

Options:
1 Vision

objectives

zeal

4 CnCrgy

Question Number : 159 Question Id ;: 9909114554 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank choosing the correct word:

When the going gets tough. the tough get
Options:
i stunned

beaten

k-2

scarred

]



going
4.

Question Number : 160 Question Id : 9909114555 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank choosing the correct word:

The seven year old boy is the legal of the huge property.
Options:

heir
hare

hair
3.

air

Question Number : 161 Question Id : 9909114556 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

A technique in computer graphics that makes an image to look smooth from a distance 1s

called

Options:

encoding

dithering
. franking

formating

Question Number : 162 Question Id : 9909114557 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:
Balance sheet means

Options:

1 Balancing strategies of a firm



Future plans of a firm 1n paper
; Summary of assets and liabilities of a firm

Calculation sheet of a fum

Question Number : 163 Question Id : 9909114558 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:
Company AGMs are meetings of

Options:

sharcholders of the company

bankers to the company

directors of the company

4 creditors of a company

Question Number : 164 Question Id : 9909114559 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

What 1s the name of the device that connects two computers by means of a telephone line?
Options:

i Tape

~ Bus

L-2

Modem

; Cable tag

Question Number : 165 Question Id : 9909114560 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct answer:

Maslow’s hierarchy concept is a theory of
Options:

motivation

marketing

advertising

4 assessment

Question Number : 166 Question Id : 9909114561 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

A terminal that can function only when it 1s lined to a computer 1s called a

Options:
; diskette
disassembler

drum storage

dumb termuinal

o

Question Number : 167 Question Id : 9909114562 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

The term ‘golden handshake’ refers to the payment made to

Options:
a new employee on joining

an outgoing employee

all the longstanding employees



all the major investors

Question Number : 168 Question Id : 9909114563 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

Withdrawal of money i excess of the credit balance on a bank account 1s called

Options:

1 msolvency

overdraft

y liquidation

4 overcredit

Question Number : 169 Question Id ;: 9909114564 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

The term ‘cybersquatting’ refers to

Options:
spending long durations of tune on the internet

stealing or mimicking popular domain names
eroup discussions conducted online

online bullying networks

Question Number : 170 Question Id : 9909114565 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:
Obtaining mnformation or opinions from a large group of people via the internet 1s called

Options:

: Crowd pulling



Crowd mining
Crowd sourcing

Crowd resourcing

Question Number : 171 Question Id : 9909114566 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

The officer told his visitors that there was no room for discussion on the subject they
broached. Here ‘no room’ means

Options:

ereat possibility
1.

, Do possibility

that there 1s no space in the office

the acconmunodation 1s not available

Question Number : 172 Question Id : 9909114567 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:
Identify the correct statement:

Options:
M. S. Subbalakshmi was rendered this song.

This song rendered by M. S. Subbalakshmi.

M. S. Subbalakshmi was this song rendered.

Lad

4 This song was rendered by M. S. Subbalakshma.

Question Number : 173 Question Id : 9909114568 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical


https://www.aplustopper.com/previous-year-question-papers/

Choose the correct answer:

Low paying jobs are a dime a dozen.

The underlined phrase means
Options:
Uncommon and odd

Common and of little value

Scarce

Lad

A Hard to come by

Question Number : 174 Question Id : 9909114569 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:
A : Did your husband consult you before taking up the new venture?
B : No. He is on his own.

B mieans that her husband
Options:

1 has his own set of advisors.

does not believe 1 god.

k-2

18 quite independent

4 15 Vary secretive

Question Number : 175 Question 1d : 9909114570 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

Don’t worry. Everything will happen as a matter of course.

The underlined phrase means
Options:

| at some point of time in future



, automatically

according to one’s wishes

favourably

I

Question Number : 176 Question Id : 9909114571 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank with the appropriate phrase/verb/preposition:

He does not hanker sensual pleasures,

Options:
after

about

L2

along

L

4. by

Question Number : 177 Question 1d : 9909114572 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank with the appropriate phrase/verb/preposition:

He tried his best to his point.

Options:
| drive deep

. drive clear

drive home

bl

| drive hard

e

Question Number : 178 Question Id : 9909114573 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank with the appropriate phrase/verb/preposition:

She has been looking forward her parents

Options:



to seeing

to see

k-2

3 tohave seen

to have been seen

Question Number : 179 Question Id : 9909114574 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank with the appropriate phrase/verb/preposition:

By mistake. I took him a thief.

Options:
1. as

after
. like

for

Question Number : 180 Question Id : 9909114575 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank with the appropriate phrase/verb/preposition:

‘Procrastination’ means ‘to

Options:
put up

put upon

L2

put above

t off
" put o

Question Number : 181 Question Id : 9909114576 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Fill in the blank with the appropriate phrase/verb/preposition:

He had no hope left. as all his plans were

Options:

| turned down

turned up

-2

turned by

4 turned on

Question Number : 182 Question 1d : 9909114577 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank with the appropriate phrase/verb/preposition:

The expression. “to go at it hammer and tongs™ means,

Options:

| fight with great energy

put up for auction

L2

punish the miscreant severely

brand cattle

Question Number : 183 Question Id : 9909114578 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank with the appropriate phrase/verb/preposition:

The answer given by the film star to the question by the press reporters 1s wide off the
mark. The underlined phrase means

Options:
: hilarious

frank

L-2

urelevant

el



4 entertaining

Question Number : 184 Question 1d : 9909114579 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Fill in the blank with the appropriate phrase/verb/preposition:

The patriot his life for his country.
Options:

;. laid up
7 laid on

laid down

i laid by

Question Number : 185 Question Id : 9909114580 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank with the appropriate phrase/verb/preposition:

Never such an amusing show.

Options:

1 I have seen
Iseen

I have saw

have I seen

I

Question Id : 9909114581 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (186 to 190)
Question Label : Comprehension



Read the following passage and answer questions

The comradeship of the young both sustains them in their own image of themselves
and gives them the emotional sustenance they need for the independence of their lives.
They live apart from us. they hold themselves back. and from the untouchable center of
their personal lives they look distantly at our existence and our knowledge as items
possessed by beings on a different planet. They are not what they seem to the professor
who merely looks at the faces before him. He cannot be certain even of their attention,
since they have learned how to occupy a classroom and look attentive while they take
their minds elsewhere. He cannot be sure of their respect. since they have learned how to
be quiet and how to act respectfully. The silence of the present generation has been many
ways deceptive. and it 15 false to assume that the silence has meant either consent or lack
of creative and critical thought.

The students must be asked to determine for themselves which books are great.
which i1deas are viable, which values are compelling. To do otherwise 1s to use the familiar
brand name approach as a form of intellectual propaganda. It 1s to take the young through
an educational tour of the museums of literature, to inspire a dutiful pious attitude to
authors other than an attitude of expectancy and mmvolvement.

Sub questions

Question Number : 186 Question Id : 9909114582 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Friendship among voungsters confers upon them

Options:

self-awareness and emotional sufficiency

. self-awareness derived of emotional involvement

’ emotional involvement without any self-awareness

neither emotional involvement nor self-sufficiency

Question Number : 187 Question Id : 9909114583 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Students in a classroom

Options:

are highly attentive
l.

appear to be attentive

are engrossed in the teacher’s lecture



4 take down notes. rather meticulously

Question Number : 188 Question Id : 9909114584 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The silence of the students 1s a mark of

Options:

1 approval without strings

lack of creativity

o]

deceptive attitude

L

fear of the future

Question Number : 189 Question Id : 9909114585 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Students must
Options:

not be allowed to think on their ovwn

. be allowed freedom of forming opinions
; totally be guided by their mstructors

4 be restricted by a strict code of conduct

Question Number : 190 Question Id : 9909114586 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which word means “feasible™?

Options:

compelling

viable

L2

dutiful
3



plous

Question Id : 9909114587 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)
Question Label : Comprehension

Read the passage below and answer questions.

Some years ago when executives and managers talked about the type of employees they
wanted to contract for their businesses they spoke of skills and qualifications. These
words are still used but have been overshadowed by the term competencies. Competencies
are a concept taken on board by Human Resource departments to measure a person’s
appropriateness for a particular job.

In simple terms a competency 1s a tool that an individual can use in order to demonstrate a
high standard of performance. Competencies are characteristics that we use to achieve
success. These characteristies or traits can include things like knowledge. aspects of
leadership. self-esteem, skills or relationship building. There are a lot of competencies but
they are usually divided into groups. Most organizations recognize two main groups and
they have numerous sub groups which competencies can be further divided into.

Competencies can be divided mto two distinct types: technical competencies (sometimes
referred to as functional) and personal competencies. As the name suggests, techmeal
competencies are those which are related to the skills and knowledge that are essential in
order for a person to do a particular job appropriately. An example of a technical
competency for a secretary might be: “Word processing: able to word process a text at a
rate of 80 words per minute with no mistakes.” Personal competencies are not linked to
any particular function. They include characteristics that we use together with our
techmcal competencies in order to do our work well An example of a personal
competency is: “interpersonal sensitivity: Demonstrates respect for the opinions of others.
even when not in agreement.”

Competencies are probably here to stay so it 15 worth thinking about your own
competencies and trying to categories them: first into the two sub-categories mentioned
above and then mto a more detailed list.

Sub questions

Question Number : 191 Question 1d : 9909114588 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which qualities have been found necessary for selecting employees by the managers and
executives. until recently?

Options:
money and background



political contacts

[

skills and qualifications

L

competency

Question Number : 192 Question Id : 9909114589 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For achieving success. which of the following is NOT mentioned as necessary in the
passage?

Options:

leadership

. self-esteem
skills

3 political clout

Question Number : 193 Question Id : 9909114590 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Into what categories have competencies been divided?
Options:

1 Technical and personal

Political and social

Economic and cultural

Manoeuvring and manipulating

I

Question Number : 194 Question 1d : 9909114591 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Personal competency results in

Options:

Inter-personal argument



Inter-personal conflict
Intra-personal conflict

Inter-personal sensitivity

Question Number : 195 Question Id : 9909114592 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

According to the passage. in future. the identified competencies are going to be
Options:
| rrelevant

- relevant

outdated

b

abandoned

e

Question Id : 9909114593 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Question Label : Comprehension



Read the following passage and answer guestions.

A writer creates a world of characters and situations and philosophy that have a
life of their own and may have no relation to him. After writing ten novels and a number
of short stories. I find that I have created good men. bad men. idiots and saints. Once they
have served their purpose. they pass clean out of my memory. I have no time to think of
them again, although for months everyone of those characters could have occupied my
thoughts obsessively while the story was in progress. Once the last line 1s written and
“The End” 1s inscribed with a happy flourish. out goes the character. But this is a solution
that the reader 1s not likely to take into account.

A reader 1s attracted or repelled by a character and expects the writer to offer
-arious explanations and interpretations of the particular character and his or her
philosophy. The reader will also have the advantage having gone through the book
recently and possibly more than once. But the writer 1s likely to have forgotten the whole
subject, especially if he has had to write a great deal else since then. When people expect
him to say wise or significant things about his own book, they may find him tongue-tied
and disappointing. In my view to find the author less than the book i1s an excellent
situation.

Sub questions
Question Number : 196 Question Id : 9909114594 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statement:
According to the author. a writer
Options:
represents in his works his own personal world

creates an imagimary world that has no bearing on reality

creates characters and situations which may not be related to his personal life

=)

creates characters and situations drawn from his personal life.

Question Number : 197 Question Id : 9909114595 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The speaker of the passage 1s a
Options:

1 poet

7 dramatist



3 fictionist

4 critic

Question Number : 198 Question Id : 9909114596 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

After writing a book. the writer every character in the novel

Options:
;  does not distinetly remember

~ distinetly remembers

L3

; often recollects

; begins to analyse

Question Number : 199 Question 1d : 9909114597 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

According to the passage. the writer
Options:
can speak eloquently about his character

can be disappointing when asked to speak about his own book

]

1s the only authority to speak about his books

1s obsessed with hus characters even after the book 1s written.

Question Number : 200 Question Id : 9909114598 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statement based on the last line of the passage
Options:

The author prefers to interact with hus readers

—_

The author prefers writing to reading books

L-2

The author wants his books to be stolen.

Ll



The author prefers to remaimn unknown.
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